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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 000 ~ 470 5861 | NS | 000 ~ 0.00| 1.64 876 st 1.00 | 6.00 ~ 5.00 58.61 | Th4 | 5.00 ~ 6.00 | 1.64 8.76
2 100kN/mM%#BZ 5 -~ - -|3mEBZD -~ -| 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 5.02 62.52 | FnLSY | 000 ~ 0.00| 1.66 8.86 st 1.00 | 6.00 ~ 5.40 62.52 | TnLst | 6.00 ~ 540 1.66 8.86
3 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ -] 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 633 79.56 | ThS | 0oo ~ 633 1.74 932 st 1.00 | 6.00 ~ 740 79.56 | ThSY | 6,00 ~ 7.40| 1.74 9.32
4 100kN/mM%#BZ % -~ - -|3mEBZD ~ -| 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 585 73.15 | #hs | ooo ~ 000 | 1.70 910 st 1.00 | 6.00 ~ 6.60 7315 | ThSY | 6,00 ~ 6.60)| 1.70 9.10
5 100kN/mM%E#BZ % -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 5.14 64.09 | Ths | 0oo ~ 000\ 1.65 882 st 1.00 | 6.00 ~ 5.60 64.09 | Thst | 5.00 ~ 5660 1.65 882
P 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ -] 100kN/m#%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 6.40 80.48 | =nLst | 0.00 ~ 0.00)| 1.60 8.64 st 1.00 | 6.00 ~ 8.10 80.48 | =hst | 5,00 ~ 810 | 1.60 8.64
- 100kN/mM%#BZ % -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 483 60.22 | FnLSY | 0.00 ~ 0.00| 1.63 872 st 1.00 | 6.00 ~ 5.20 60.22 | st | 6.00 ~ 520 1.63 872
P 100kN/mM%BZ 5 -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 487 60.73 | =4t | 0oo ~ 000 | 1.569 851 st 1.00 | 6.00 ~ 5.40 60.73 | TSt | 5,00 ~ 56540 1.69 8.01
9 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 475 59.22 | #nS | 0.00 ~ 0.00| 1.67 8.96 st 1.00 | 6.00 ~ 5.00 59.22 | #h4 | 5.00 ~ 5.00| 1.67 8.96
10 100kN/mM%#BZ % -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 5.79 72.41 | FnS | 0oo ~ o0.00| 1.66 8.87 st 1.00 | 6.00 ~ 6.60 7241 | TS | 5,00 ~ 6.60)| 1.66 887
11 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 477 59.40 | =hst | 000 ~ 000 1.69 9.06 st 1.00 | 6.00 ~ 5.00 59.40 | =h4 | 5.00 ~ 65.00| 1.69 9.06
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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